CORAL GATE PARK

TOTAL

6 Stand up 1 Wall Mount **Details**

3 stand up fountains on North side of basketball courts 1 stand up fountain near each pavillion Wall mount on North side of Restroom Building

Current Fountains



Replacement Fountains



1 will replace 3 fountaints near basketball



1 will replace
Fountains on North
and South end of
Courts, we are not
replacing Fountain
near picnic Pavilion



1 will replace wall mounted fountain near restroom

VETERANS PARK

TOTAL 1 Stand up

Details 1 stand up fountain located just North of

Pavilion

Current Fountains



Replacement Fountains



WINFIELD PARK

TOTAL 1 Stand up

Details 1 stand up fountain located just North of the

Playground

Current Fountains



Replacement Fountains



CENTENNIAL PARK

TOTAL 1 Stand up

Details

1 stand up fountain located just West of

playground

Current Fountains



Replacement Fountains



LEGACY PARK

TOTAL 1 Stand up

Details 1 stand up fountain located just East of the

Pavilion

Current Fountains



Replacement Fountains



ANDREWS FIELD

TOTAL 1 Wall Mount

Details 1 Wall Mount located on East side of

Restroom Building

Current Fountains



Replacement Fountains



MARGATE SPORTS COMPLEX

TOTAL 2 In-Wall

Details 1 In-Wall located on each side of Restroom

Building

Current Fountains



Replacement Fountains

ROCK ISLAND FITNESS

TOTAL 1 Stand up

Details 1 stand up fountain located just West of

structure

Current Fountains



Replacement Fountains



ROYAL PALM PARK

TOTAL 1 Stand up

Details 1 stand up fountain located just South of

Restroom

Current Fountains



Replacement Fountains



DAVID PARK

TOTAL 1 Wall Mount

Details 1 Wall Mount located on South side of Community Center Building

Current Fountains



Replacement Fountains



Current

	Picnic tables	Trash rec	Bench
Lemmon tree	1	3	
Coral Gate	5	7	16
Kaye Stevens	4	3	3
Royal Palm	5	5	5
Centennial	2	4	3
Rock Island Fitness		1	1
Vets		1	
Legacy		2	1
Totals	17	26	29

	QTY	COST	TOTAL
Drinking Fountains (On wall) Elkay	2	\$3,713.00	\$7,426.00
Drinking Fountains (stand up, dbl)	1	\$6,900.00	\$6,900.00
Drinking Fountains (stand up, sin)	8	\$6,450.00	\$51,600.00
Drinking Fountains (On wall) MDF	1	\$3,755.00	\$3,755.00
Drinking fountain (In wall)	2	\$5,995.00	\$11,990.00
MDF Freight	1	\$3,650.00	\$3,650.00
TOTAL			\$85,321.00
	QTY	COST	TOTAL
Swing Benches*	6	\$1,891.67	\$11,350.00
Picnic tables	17	\$1,014.00	\$17,238.00
Trash rectacle	26	\$442.64	\$11,508.64
Bench	29	\$821.28	\$23,817.12
Mounting Pipe	26	\$25.30	\$657.80
Fork lift charge	1	\$150.00	\$150.00
Freight	1	\$2,550.00	\$2,550.00
TOTAL			\$67,271.56

GRAND TOTAL

\$152,592.56

Currently in Account: \$152,803

^{*}Req has been entered